10 =2 Ssimplifying Radical Expressions

& KeyConcept Product Property of Square Roots

Words For any nonnegative real numbers a and b, the square root of ab is equal to
the square root of a times the square root of b.

Symbols Vab=+va+Vb,ifa>0andb>0

Examples V4.9 =360r6 Va.9=vV4./9=2.30r6

S><

Check Your Understanding = Step-by-Step Solutions begin on page R13.

Examples 1-3 Simplify each expression. g -"f
. VA 2V 2. 3V16 12 3. 2V/25 10

4. /10 - V12 24/35 5. V3 - V18 36 6. 3v/10 - 4V/10 120

8. \/88m3p2rS 9. \/99ab5c2 3b2|¢| \/11ab
2m|p|r2 vV22mr

%18




1 0—2 Simplifying Radical Expressions

& XeyConcept Quotient Property of Square Roots
Words

For any real numbers a and b, where a > 0 and b > 0, the square root of % is
equal to the square root of a divided by the square root of b.

va

Vb

- We must get rid of all roots in the denominator to simplify.
_anles 4-5Simplify each expression.

.\/_ 38, /27 | 39, V68ac \

32
o s
A/ 13
a0, V! 4. /3 .42 42, +JZ.4/3
V3 Vie' V5 2°V3




102 Simplifying Radical Expressions

Tadk-Congl) "L,ft/\ry 1 o de N, ke oy
Think of the difference of squares:” (a + b)(a - b) = a2 - b?

Example 5 Simplify each expression.

3 9—3V5 a > 2 + 24/10
; —9







Examples 1-3 Simplify each expression.

1. V24 24/6 2. 3\/16 12 3. 2V/25 10
4. /10 - V14 24/35 5. V3 - V18 3V/6 6. 3V/10 - 4V/10 120
7. \/60x%y7 2x2y34/15y 8. \/88m3p?r° 9. V99ab5c> 3b2|c| V11ab
2m\p|r2 v 22mr
Example 4 10, MULTIPLE CHOICE Which expression is equivalent to 4/ 12? D
5v2 V45 V50 3V2
Gl T B o €0 A=

Example 5 Simplify each expression.

443 9-3/5 49 5 10+5V6 g _ 2 2 + 2410
3+45 4 2—-v6 -2 1—+10 -9

u 1 2-V3 15, 4 24+4V7 16, 6 15-3V11
4++12 2 6 —V7 29 5+ /11 7

Jesr~o?



Practice and Problem Solving Extra Practice is on page R10.

Examples 1-3 Simplify each expression.

17. V52 24/13 18. V56 2/14 19. V72 62

20. 3\/18 9/2 21. /243 9/3 22. \/245 T\/5

23. /5 - V10 5V2 24. V/10 - V20 10V2 25. 3V/8 . 2V/7 124/14
26. 4v/2 - 5V/8 80 27. 3\/25¢2 15|t 28. 5\/814° 45¢%\/q

20. \/28223 2|a|b\/Th  30. \[75qr 5r+/3qr 31. 7\/63m3 21m+\/Tmp

32. 11/66¢%h* 4|g|h2\/66  33. \/2ab2 - \/10a5b 34. \4c3d3 . \/8c3d 4cdd2\/2
2a°/5b



gl
/
_J'nples 4-5 Simplify each expression.

32 42 s . [2ZZ 3V3m ag, V6Bac® 20V/5Tac
. R po m3 2722 9)a|
40. ‘/\/h? . ”42" . 1 e 42. f f Vel
8
5l 35 —7V/3 i 27+9«/_ = 33 ﬁ\/_+9\/§
" 5+3 22 " 6—V8 14 —2+\/_ 2
6 3 NT+WV2 L 5  5VE-5/8 o 4\/ — 615

V7 =V2 o V6 +V3 - 2\/_






